BK Albrekts

Tisdagsbridgen 2019-10-15

Partavling, 10 bord, 20 par.

SCRATCH

Antal brickor: 24. Medel: 216.0.

Plac Par Poéang % Namn MID Klubb
1 16 272.0 62.96 Britt-Marie Warborn - Per Fahraeus 2783 3010 BK Albrekts
2 15 256.0 59.26 Lars-Goran Larsson - Bodil Gustafsson 2743 22165 BK Albrekts
2 1 256.0 59.26 Nicklas Barman - Christina Ederberg 60737 56439 BK Albrekts
4 20 244.0 56.48 Ann Ohnedal - Inge Karlsson 53984 58661 BK Albrekts
5 7 242.0 56.02 Maya Lo Bjork Heed - Andrea Nilsson 58763 58762 BK Albrekts
6 5 238.0 55.09 Egon Osterbrand - Ulla Osterbrand 89890 89889 BK Albrekts
7 4 228.0 52.78 Monica Hedskéld - Uno Andersson 92026 14106 BK Albrekts
8 2 226.0 52.31 Bengt Bengtsson - Lars Svensson 19714 2688 BK Albrekts
9 19 222.0 51.39  Erling Ohlsson - Bo Johansson 87034 7290 BK Albrekts
10 17 220.0 50.93 Tage Ericsson - Ulla-Karin Ericsson 5311 5316  BK Albrekts
11 10 216.0 50.00 Gunvor Bengtsson - Bengt Larsson 19715 7391 BK Albrekts
12 8 214.0 49.54 Kenneth Svensson - Carl-Olof Jagebro 14859 26790 BK Albrekts
13 3 207.0 47.92 Ingrid Dahlin - Agneta Klint 45452 53947 BK Albrekts
14 14 204.0 47.22 Lars Viksten - Tony Hjalmarsson 81212 81211 AsalFrillesés BK - Veddige BS
15 13 196.0 45.37 Lennart Johansson - Géran Svensson 12266 372 Veddige BS
16 18 193.0 44.68 Hans-Goran Larsson - Hans Jonrup 26744 52945 Harplinge BK - BK Albrekts
17 12 184.0 4259 Mona Vesterinen - Bengt-Ake Fransson 84486 81208 Veddige BS
18 11 174.0  40.28 Ake Enander - Hakan Bjérklund 7351 38101 BK Albrekts
19 6 169.0 39.12  Siw Svensson - Kerstin Kagstrom 56262 45861 BK Albrekts
20 9 159.0 36.81 Lars-Olof Carlsson - Stig-Olof Hermansson 37071 26783 BK Albrekts
1 4D3 Basta kontrakt 2 4 Kn106 Basta kontrakt 3 4832 Basta kontrakt
Nord v7 54 O =-450 Ost v 9742 64 O D -4800 Syd vE4 5¢ S =400
Ingen ¢ Kn753 NS ¢+ EKn1093 ov + EDKn85
#KKn9753 & ¢ v & NT LY} & ¢ v & NT «KD4 & ¢ v & NT
4 E962 4 K8754 N9 46 25 4E7532 4 K984 N9 7 125 10 4 DKn75 &K1064 N 10117 7 9
vED6 vKnl05 S946 25 v63 v10 S 9 7 125 10 vD9752 vKnl103 S 10117 7 9
+D94 ¢ K862 O3 9 6 116 2 + KD8765 036083 ¢ 103 462 01266 2
#1084 &2 V 39 6 116 #Kn7654 #92 V36083 #Kn9 #E653 V12€6¢6:2
4 Knl10 D 4 E9
v K98432 v EKDKn85 v K86
¢+ E10 ¢4 + K974
#ED6 #EKD103 10872
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 9 3NN-1 a4 -50 180 00| 7 9 6vS= aA 1430 16.0 20| 1 15 3NN+2 vJ 460 140 4.0
18 10 3v S-3 s A -150 150 3.0|16 8 6v S= ¢2 1430 16.0 20|11 18 3NN+2 vJ 460 140 4.0
19 2 3vS-3 oA -150 150 3.0|18 10 6v S= ¢2 1430 16.0 20|12 4 3NN+2 3 460 140 4.0
6 14 34 O+1 +A -170 120 6.0| 6 14 64DV-4 +A 800 120 6.0|13 2 3NN+2 vJ 460 140 4.0
4 17 34 O+2 +A -200 6.0 12.0| 4 17 4v S+2 ¢2 680 50 13.0{17 5 3NN+2 &3 460 140 4.0
11 3 34 0+2 v3 -200 6.0 12.0|11 3 4vy S+2 45 680 5.0 13.0| 6 20 3NN= *5 400 5.0 13.0
13 1 34 0+2 +A -200 6.0 12.0|{12 15 4v S+2 ¢2 680 50 13.0| 8 10 3NN= a4 400 5.0 13.0
16 8 34 O+2 #A -200 6.0 12.0(13 1 4v S+2 ¢2 680 50 13.0| 9 16 3NN= a4 400 5.0 13.0
20 5 34 O+2 A -200 6.0 12.0(19 2 5v S+1 aA 680 50 13.0(14 7 3NN= *6 400 5.0 13.0
12 15 54DN-3 #4 -500 00 180|20 5 4v S+2 ¢2 680 50 13.0{19 3 3NN-1 a4 -50 0.0 18.0
4 a7 Bésta kontrakt 5 # Kn853 Bésta kontrakt 6 454 Bésta kontrakt
Vast vKD104 3v N =140 Nord vE97 3NT O =-400 Ost vD6 4v S =420
Alla + E1053 NS + EKn4 ov + DKn103
#E643 & ¢ v & NT #KKn6 & ¢ v & NT #EKN753 & ¢ v & NT
4 EK109 #DKn543 N 109 9 6 8 4 D4 & EK76 N35443 4 Knl1093 & EK862 N 9 11105 8
v 965 v 873 S 109 9 6 8 vKD52 vKn6 S 35443 v 107 v Kn932 S 9 10105 8
¢KD42 +¢Kn8 034374 ¢K82 +D63 O 108 8 9 9 +K ¢ 6542 041381
*K7 #1052 V34374 D972 #E1043 V 108 9 9 9 21098642 %- V41381
4 862 41092 4 D7
v EKn2 v 10843 v EK854
+976 ¢ 10975 + E987
#DKn98 «85 #KD
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 10 24 V-1 vK 100 150 3.0|13 3 3NO-1 aT 50 170 10|15 2 3NN+3 a2 490 18.0 0.0
9 16 34 V-1 v4 100 150 3.0(14 8 3NO-1 *T 50 170 10| 4 19 4v S= ) 420 16.0 2.0
11 18 24 V-1 vK 100 150 3.0|18 12 INV+1 *6 -120 140 40| 1 5 2NS+3 &T 210 140 4.0
19 3 1e V-1 vK 100 150 3.0|15 2 INV+3 ¢4 -180 120 6.0| 6 17 4¢ S= aT 130 11.0 7.0
115 24 V= vK -110 5.0 13.0|/20 7 INN-2 a7 -200 10.0 8.0(18 12 3¢ S+1 vT 130 11. 7.0
6 20 24 V= vT -110 50 13.0| 9 11 14 N-3 a A -300 80 10.0|20 7 2NN= a A 120 8.0 10.0
12 4 24 V= v4 -110 50 13.0| 1 5 3NO= aT -400 40 14.0|10 16 2¢ S+1 & 110 6.0 12.0
13 2 24 V= vK -110 50 13.0| 4 19 3NO= aT -400 40 140| 9 11 2¢ S= ] 90 40 14.0
14 7 24 V= v4 -110 50 13.0| 6 17 3NO= v4 -400 40 140|14 8 3NN-2 s A -100 2.0 16.0
17 5 24 V= vQ -110 50 13.0{10 16 2¢DS-3 ¥K -800 0.0 18.0|13 3 5¢ S-3 8 -150 0.0 18.0
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7 & K87 Basta kontrakt 8 & Kn2 Basta kontrakt 9 4 Kn962 Basta kontrakt
Syd v D8432 3NT S =600 Vast v 832 44 V =-420 Nord v4 44 N =420
Alla + KD8 Ingen + 10764 ov + EDKn5
#ED & ¢ v & NT #8763 & ¢ v & NT #10872 & ¢ v & NT
4 D532 #E1094 N9 9979 & K84 «D109765 N 3 8 8 3 3 443 & K7 N7 9 5 105
vEKn9 vK107 S999729 v D5 v KKn4 S 38833 vEKD632 v 1098 S 7 9 5 105
¢942  +Knl06 O3 446 4 +85 ¢+ KD O 105 5 107 ¢ 74 410863 06 4824
#864  #Kn73 V 34464 #EKNn10942 &D5 V 105 5 107 #654 #EK93 V64824
4 Kn6 4 E3 « ED1085
v 65 vE10976 v Kn75
¢+ E753 + EKn932 + K92
#K10952 &K #DKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 11 3NS+1 43 630 180 00| 1 18 44DO-1 K 100 180 00| 2 18 44 S= vA 420 18.0 0.0
1 18 3NS= a2 600 160 20|14 9 34 0= v6 -140 160 20|15 4 5vV-3 a2 300 16.0 2.0
7 17 INN+3 aT 180 90 90|13 4 34 0+1 YA -170 140 40| 6 19 34 S+2 vA 200 10.0 8.0
8 20 INN+3 49 180 90 90| 8 20 5vS-4 a4 -200 11.0 7.0(13 5 3v S+2 vA 200 10.0 8.0
10 12 INN+3 a4 180 9.0 9.0{19 5 34 0+2 &A -200 11.0 7.0(14 10 24 S+3 vA 200 10.0 8.0
13 4 INS+3 43 180 90 90| 2 6 44 0= s A -420 6.0 12.0|16 12 34 S+2 vA 200 10.0 8.0
15 3 INN+3 Ly 180 9.0 9.0|10 12 44 O= vA -420 6.0 12.0|17 8 34 S+2 vA 200 10.0 8.0
19 5 INN+3 a4 180 90 9.0|15 3 44 0= 43 -420 6.0 12.0|/20 9 34 S+1 vA 170 4.0 14.0
2 6 INN+2 49 150 1.0 170( 7 17 44 O+1 &K -450 20 16.0| 3 7 34S= vA 140 1.0 17.0
14 9 INN+2 +J 150 10 17.0(16 11 44DO= +A -590 0.0 18011 1 24 S+l vA 140 1.0 17.0
10 464 Bésta kontrakt 11 & KKn74 Bésta kontrakt 12 .- Bésta kontrakt
Ost v EKKn 44 O =-620 Syd v K864 5v S =450 Vast v5 64 V D -2 300
Alla + 10876 Ingen ¢+ E8 NS + EDKn987652
#EKNn95 & ¢ v & NT #K93 & ¢ v & NT *K97 & ¢ v & NT
4 D10953 # EK72 N8 44314 4E10832 D N7 6 119 9 « EKKN76 410532 N 4 125 3 8
v 982 vD1063 S84 434 vD vKn72 S7 6 119 9 vE9643  vK10 S 4 126 3 8
¢ EKKn4 ¢ D92 059 9 105 ¢+ K1043 ¢ DKn65 06 7 2 42 .- ¢43 0917 102
&D *64 V59 9 105 *642 #Kn10875 V 6 7 2 4 2 #Kn106  #D8543 V917 102
~Kn8 4965 « D984
v 754 v E10953 v DKn872
+53 ¢ 972 + K10
#K108732 *ED &E2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 9 34 N-= s A 110 180 0.0(16 1 4y N+2 4Q 480 180 00|19 7 5¢DN+1 vK 950 18.0 0.0
6 19 34 V+1 vA -170 150 3.0 4 8 4v S+l s A 450 150 3.0 4 8 5¢ N+1 45 620 11.0 7.0
16 12 34 V+1 vA -170 150 3.0(19 7 4v S+l *2 450 150 3.0(13 6 5¢ N+1 43 620 11.0 7.0
3 7 34V+2 vA -200 120 6.0|15 5 4v S= *6 420 11.0 7.0(14 11 5¢ N+1 45 620 11.0 7.0
2 18 44 V= vA -620 50 13.0|17 9 4v S= s A 420 11.0 7.0(16 1 5¢ N+1 ¢4 620 11.0 7.0
11 1 44 V= vA -620 5.0 13.0|14 11 1v S+4 s A 200 8.0 10.0|17 9 5¢ N+1 42 620 11.0 7.0
13 5 44 V= vA -620 5.0 13.0|10 20 2v S+2 *4 170 5.0 13.0|18 3 5¢ N+1 &T 620 11.0 7.0
14 10 44 V= vA -620 50 13.0|12 2 2v S+2 +3 170 50 13.0|15 5 54DV-2 +A 300 40 14.0
15 4 44 V= vA -620 5.0 13.0|13 6 1v S+2 a2 140 10 17.0(10 20 54DV-1 5 100 1.0 17.0
17 8 44 V= vK -620 5.0 13.0|18 3 2v S+1 *4 140 10 170(12 2 54DV-1 +A 100 1.0 17.0
13 4 E532 Basta kontrakt 14 462 Basta kontrakt 15 aK4 Basta kontrakt
Nord v 10952 5¢ N =650 Ost v EK10532 INT S =1520 Syd v Kn1042 34 V =-140
Alla *2 Ingen + Kné NS +83
#DKn104 & ¢ v & NT #EKKn & ¢ v & NT #DKn1086 & ¢ v & NT
4 Kn87 «D1094 N6 6 117 8 & Kn3 « KD754 N 8 11131013 a4Kn86 4109752 N756 46
v43 v6 S 6 6 117 8 v 84 vD9 S 8 11131013 vED85 v73 S756 46
49765 ¢ EKKn8 O6 7 26 4 75 ¢ K984 051030 ¢ DKn95 ¢ K2 O6 76 96
#E876 #K532 V67264 #D1086542 #73 V510830 »E3 K974 V678697
4 K6 4 E1098 4 ED3
v EKDKn87 vKn76 v K96
+D1043 + ED1032 + E10764
*9 *9 *52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 4v S+1 +9 650 140 40| 7 13 54DV-6 vA 1400 180 00| 2 4 INS= 46 90 170 1.0
7 13 4y N+1  ¢A 650 140 40|11 20 4v N+3 &K 510 140 4.0(17 11 INS= +Q 90 170 1.0
8 19 4v S+1 +9 650 140 40|15 6 4v N+3 &K 510 140 40|13 8 2vN-1 aT -100 140 4.0
15 6 4v S+l +9 650 140 4.0(17 10 4y N+3 &7 510 140 40| 9 19 24 O+1 +A -140 9.0 9.0
16 2 4v S+1 +5 650 140 40|18 4 3NN+3 *7 490 100 80|14 1 24 0+1 v6 -140 9.0 9.0
17 10 4v S= +5 620 7.0 11.0| 8 19 4v N+2 &K 480 70 11.0{16 3 24 O+l v6 -140 9.0 9.0
18 4 4v S= 6 620 7.0 11.0|14 12 4y N+2 44 480 7.0 11.0|20 12 24 O+1 v6 -140 9.0 9.0
5 9 2vS+3 *A 200 3.0 150 5 9 4vy N+l &7 450 40 140| 6 10 INN-2 a5 -200 2.0 16.0
14 12 3v S+2 *A 200 3.0 150| 1 3 3v N+3 &7 230 20 16.0|15 7 INS-2 46 -200 2.0 16.0
11 20 3v S+1 +5 170 00 180|16 2 6v N-1 s K -50 00 18018 5 3v N-2 oT -200 2.0 16.0
16 4 D42 Bésta kontrakt 17 49743 Bésta kontrakt 18 & K985 Bésta kontrakt
Vast v K87543 6¢ V =-1370 Nord vK 44 N =420 Ost v EKn3 54 S =650
ov +3 Ingen + ED954 NS + 105
#D106 & ¢ v & NT #ED3 & ¢ v & NT #Kn985 & ¢ v & NT
4Knl06 & K953 N6 1512 4D52 &E6 N7 89 107 4« D64 4732 N7 6 11119
vED102 vKn S6 1512 v1093 vED6 S 789 107 v K5 v 104 S 7 7 11119
¢+ KD876 ¢ EKn952 O 7 128 1111 + K103 ¢ Kn862 O6 5436 ¢ EKN972 ¢ 843 056123
*5 &»EK4 vV 7 128 1111 #9874 #Knl062 V65436 #KD3 #E7642 V56123
» E87 » KKn108 « EKn10
v 96 v Kn87542 v D98762
+ 104 .7 + KD6
#Kn98732 *K5 »10
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
16 3 2¢ V+4 *6 -170 180 0.0| 7 11 44 N= *] 420 16.0 20| 7 11 4v S+l &K 650 170 1.0
20 12 34 O+2 ¥9 200 16.0 2.0| 8 15 44 S= *9 420 16.0 20|18 6 4v S+1 &K 650 170 1.0
14 1 5¢ V= *6 -600 140 40|18 6 44 N= *6 420 16.0 20(20 1 4v S= &K 620 140 4.0
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2 4 5¢V+1 +3 -620 11.0 7.0| 9 13 INS+1 9 120 120 6.0 3 5 3v S+2 *K 200 9.0 9.0
13 8 5¢ V+1 +3 -620 11.0 7.0|17 12 2v S= *9 110 8.0 10.0|14 2 3v S+2 &K 200 9.0 9.0
15 7 3NV +1 v5 -630 70 11.0|19 10 24 N= *J 110 8.0 10.0|16 4 3v S+2 ¢A 200 9.0 9.0
18 5 3NO+1 &7 -630 7.0 11.0|/20 1 24 N= *] 110 8.0 10.0|17 12 2v S+3 ¢ A 200 9.0 9.0

9 19 44 O+2 & -680 3.0 15014 2 2NN-1 *2 -50 3.0 150| 8 15 34 0O-3 v6 150 40 14.0
17 11 44 O+2 v9 -680 30 150(16 4 44 N-1 »6 -50 3.0 150| 9 13 3v S= *K 140 2.0 16.0

6 10 64 O= v9 -1430 0.0 180| 3 5 44 S-2 *9 -100 0.0 18.0|19 10 3¢ V-1 vA 50 0.0 18.0
19 & K853 Bésta kontrakt 20 « E963 Bésta kontrakt 21 & K863 Bésta kontrakt
Syd vD3 5¢ SD-2-300 Vast v 8764 4v V =-620 Nord vK3 64 S =1370
oV + EKKn864 Alla + 106 NS +43

*4 & ¢ v & NT S EK2 & ¢ v & NT #EKDKnN3 & ¢ v & NT
« ED2 49764 N39 346 4 KDKn107 &2 N8 4337 4954 &« DKn72 N 119 7 8 10
vEK105 v¥Kn962 S39346 vEKKn10 D932 S84337 vEKNn954 v 762 S 129 7 9 10
+53 +10 09 4 108 7 ¢ Kn2 ¢ EK9743 O5 9 108 6 + K1065 ¢ Kn72 014533
&#EK65 #Kn972 V 104 108 7 »87 +Kn4 V59 108 6 *5 »864 V14533

«Knl0 4 854 «E10

v 874 v5 vD108

+ D972 + D85 + ED98

#D1083 #D109653 #10972

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 2NV-3 ¢ A 300 180 0.0(15 9 4v V-3 v4 300 18.0 0.0|19 12 3NN+2 2 660 18.0 0.0
15 9 2NV-2 *A 200 140 40| 4 6 4v V-2 &A 200 16.0 20| 2 17 3NS+1 v5 630 120 6.0
18 7 2NV-2 *A 200 140 40(20 2 4v V-1 *A 100 140 40| 5 7 3NS+1 v4 630 120 6.0
20 2 4v 0O-2 .7 200 140 40|19 11 2v V+1 *K -140 120 6.0|10 15 3NN+1 v7 630 120 6.0

8 12 2NV -1 *A 100 100 80| 3 14 4v V= &A -620 50 13.0|14 4 3NS+1 va 630 120 6.0
19 11 3v V= + K -140 8.0 10.0| 5 16 4v V= *A -620 50 13.0|16 6 3NN+1 &7 630 120 6.0

516 3v O+1 ¢2 -170 6.0 12.0| 8 12 4y V= *A -620 50 13.0{18 8 5&#N= v7 600 5.0 13.0
17 1 3vS-5 *A -250 40 14.0|13 10 4v V= &A -620 50 13.0|/20 3 5&N= v7 600 5.0 13.0

3 14 4v V= *A -620 10 170(17 1 4v V= *K -620 5.0 13.0|11 13 INS+3 49 180 2.0 16.0
13 10 4v V= *A -620 10 170(18 7 4v V= *A -620 50 13.0| 9 1 24 N+2 ¢2 130 0.0 18.0
22 4103 Basta kontrakt 23 46 Basta kontrakt 24 495 Basta kontrakt
Ost v 1086 2NT S =120 Syd v 972 4ANT V =-630 Vast vE10974 5NTV =-460
oV + E107 Alla + 1075 Ingen ¢ E

#DKn654 & ¢ v & NT #E98752 & ¢ v & NT #Kn10965 & ¢ v & NT
4 D8642 &Kn7 N7 86 7 8 4 Knl1093 & ED54 N4 3 433 4 DKn1087 «EK4 N437 22
vD2 v K9543 S 88678 vK v E8543 S 44433 v8 vKD3 S43722
¢ DKn52 463 055765 ¢ EDKN9 ¢43 O 8 8 8 1010 + K102 + D965 09 95 1111
*E7 #K1092 V55665 #KD64 4103 vV 9 8 8 1010 #EK83 &D42 V9 95 1111

& EK95 4 K872 4632

v EKn7 v DKn106 v Kn652

+ K984 + K862 + Kn8743

83 *Kn *7

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

2 17 INS+2 a4 150 16.0 20|17 3 54 V-2 &A 200 180 00| 5 14 64 V-1 *A 50 18.0 0.0

5 7 INS+2 a2 150 160 20| 6 8 4a4V-1 *A 100 11.0 7.0(15 11 44 V= *A -420 16.0 2.0
16 6 INS+2 a2 150 16.0 20| 9 18 44 V-1 *T 100 11.0 7.0| 6 8 4e V+l ¢ A -450 8.0 10.0
10 15 INS+1 a2 120 9.0 90|10 2 4eV-1 &A 100 11.0 7.0| 7 16 44 V+1 L)) -450 8.0 10.0
11 13 INS+1 a4 120 9.0 9.0|12 13 44 V-1 *A 100 11.0 7.0| 9 18 54 V= *A -450 8.0 10.0
14 4 INS+1 a2 120 9.0 9.0({15 11 4a V-1 *A 100 11.0 7.0(10 2 44 V+1 ¢ A -450 8.0 10.0
20 3 INS+1 a4 120 9.0 90|19 1 4eV-1 v2 100 11.0 7.0(12 13 44 V+1 ¢ A -450 8.0 10.0
18 8 INS= a4 90 3.0 150| 5 14 44 V= *A -620 20 16.0{19 1 44 V+1 ] -450 8.0 10.0
19 12 INS= a2 90 3.0 150| 7 16 44 V= 46 -620 20 16.0{20 4 44 V+1 ¢ A -450 8.0 10.0

9 1 2NV= *A -120 0.0 180|200 4 44 V= »5 -620 20 16.0{17 3 3NO+2 v2 -460 0.0 18.0
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